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Read the following instructions carefully before you begin to answer the questions. 
This Booklet contains questions in English as well as in Hindi. 

grit ~ s ~a ~ e~ AR fr~ sra~ii at ta ~ e ~ iz frat a sis~t am ft ziii fa n 1 

INSTRUCTIONS TO CANDIDATES 
• This Booklet contains 200 questions in all comprising the following 

three tests: 
Test I General Intelligence & Reasoning 
Test I : General Awareness 
Test III : General Engineering 

(Mechanical) 
2. In questions set bilingually in English and Hindi, in case of discrepancy, 

the English version will prevail. 
3. All questions are compulsory and carry equal marks. 
4. The paper carries negative marking. 0-25 marks will be deducted for 

each wrong answer. 
5. Before you start to answer the questions you must check up this 

Booklet and ensure that it contains all the pages (1-32) and see that 
no page is missing or repeated. If you find any defect in this 
Booklet, you must get it replaced immediately. 

6. Youwill be supplied the Answer Sheet scpamatelyby the Invigilator. 
Before you actually start answering the questions, you must 
complete and code the details of Name, Roll Nuber, Ticket Number, 
Booklet Serial Na. and Stream i.e. Civil and Structural OR Electrical 
OR Mechanical etc., in the Answer Sheet carefully. You must also put 
your signatures and Left-Hand thumb impression on the Answer Sheet 
at the prescribed place before you start answering the questions. These 
instructions must be fully complied with, failing which, your Answer 
Sheet will not be evaluated and you will be awarded ZERO mark. 

7. Answers must be shown by completely blackening the corresponding 
circle on Side-II of the Answer Sheet against the relevant question 
number by Black/Bue Ball-point Pen only. Answers which are not 
shown by Black/Blue Ball-point Pen will not be awarded any mark. 

8. Amachine will read the coded information in the OMR Answer Sheet. 
In case the information is incomplete or different from the information 
given in the application form, such candidate will be awarded 'ZERO' 
mark. . 

9, The Answer Sheet must be handed over to_ the Invigilator before you 
leave the Examination-Hall. 

0. FAllure to comply with any of the above instructions will render t 
candidate Hable to such action/penalty as may be deemed fit. 

tf, The manner in which the different questions are to be answered has been 
explained at the back of this Booklet (Page No. 32), which you should 
read carefully before actually answering the questions. 

12. Answer the questions as quickly and as carefully as you can. Some 
questions may be difficult and others easy. Do not spend too much time 
on any question. 

13. No rough work is to be done on the Answer Sheet. Space for rough 
work has been provided below the questions. 

14. Mobile phones and wireless communication devices are completely 
banned in the examination halls/rooms. Candidates are advised 
not to keep mobile phones/any other wireless communication 
devices with them even switching it off, in their own interest. 
Falling to comply with this provision will be considered as using 
unfatr means in the examination and action wil be taken against 
them including cancellation of their candidature." 
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TEST -I : GENERAL' INTELLIGENCE & REASONING 

(A) 7 () 10 (C) 16 (D) 20 

4. If a mirror is placed on the line MN, then 
which of the answer figures is the right 
image of the given figure ? 
Question figure 

l N 

Answer figures 

I. How many triangles are there in the figure? 

2. Find the number of minimum straight lines 
required to make figure. 

(A) (B) (C) (D) 

• 

(A) 13 (B) 17 (C) 15 (D) 19 

5. A word is represented by only one set of 
numbers as given in any one of the alter­ 
natives. The sets of numbers given in the_ 
alternatives are represented by two classes of_ 
alphabets as in two matrices given below. 
The columns and rows of Matrix I are­ 
numbered from 0 to 4 and that of Matrix II 
are numbered from 5 to 9. A letter from 
these matrices can be repn sented first by its 
row and next by its column, eg, M can be 
represented by 01, 14 etc., and S can be 
represented by 58, 77 etc. Similarly. you have 
to identify the set for the word ROHAN'. 

Matrix I Matrix II 

E • 3. Write the number of space enclosed by 
rectangle and circle but not by triangle. 

(A) 3 (B) 2 (€) 1 (D) 4 

0 I 2 3 4 
0 H M X W K 
I N R N Y M 
2 KV H p w 
3 Y z R. M N 
4 W V H J P 

$ 6 7 8 9 
5 A D E s B 
L - i 0 G Q 
7 0 Q s D A 

• s E U E D 
9 Q B A T 0 

(A) 11, 57, 00, 55, 12 
() 11, 75, 00, 55, 10 
(€) 32, 75, 21, 55, 10 
(D) 32, 67, 41, 55, 12 

. . 
SPACE FOR ROUGH WORK 
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s 6 7 8 9 
5 A D E s B 
6 T U 0 G Q 
7 0 Q S D A 
8 s E U E D 
9 Q B A T 0 

0 1 2 3 4 
0 H M X W K 
I N R N Y M 
2 K V H P W 
3 y z R M N 
4 W V H I P 

(A) 11, 57, 00, 55, 12 
(B) 11, 75, 00, 55, 10 
(€) 32, 75, 21, 55, 10 
(D) 32, 67, 41, 55, 12 

i N 

Ir ±J 
(A) () (C) (D) 

5. Ua araz ~a ta iean-es gr fa za ~, 
f fas ii ~ fd za fan at ~y 

free ## fu u iez-ms sri ~ zt azf z 
arfu q &, r fr # fit n ~t saii 
3rags I~ cart st ifr Al zieno~ 4 ¢ 
tat arras Ifs~9 1za rat ~ qa rare 
at e~ a ft if at are tr ken gr 
zarfar snr aa Rt sea ~ fr 'M al 
01, 14 3nf? garar earfar s ear ?aa ·sat 
58, 77 3f~ gr zrfar sn eaar R Int a ~ 
3nest ~ fRu are ROHAN' ~ fku me at 
saraa Rt 

3rag& I 3r= II 

(D) 4 

(B) 10 (€) 16 (D) 20 

(B) 2 (C 1 

(A) 7 

(A) 3 

err _I : rra aft sf¢ a 
1. srrafR ge fa frqt? 4. qf~ es frat MN?ear cers~ Rt? ! aa 

3raft ~ ala-Rt anaf~ sa rafa A a 
gffrra en ? 

rva 3rrof 

(A) 13 () 17 (C) 15 (D) 19 

3. Bar eat ft zieri aart fr snara st a aR 
zq & fa frgs a~ta 

2. fffr snarf~r al ara ~ fro sf&ra rraa 
\ ams tea r tie a a• 
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Answer figures 

(D) (c (B) (A) 

Answer figures ( f :: 

Answer figures 

EE uE Ill 
(A) (B) (C) (D) 

11. A piece of paper is folded and cut as shown 
below in the question figures. From the 
given answer figures, indicate how it will 
appear when opened. 
Question figures 

9. Which ·answer figure will _compldte the 
pattern· in the question figure ? 
Question figure 

LT 
(A) (B) '/ (C) (D) 

10. From the given answer figures, select the/ 
one in which the question figure is hidden/ 
embedded. 
Question figure 

ly 

6. In the given figure, the circle -stands for 
intelligent, square for hardworking, triangle 
for Post graduate and the rectangle for loyal 
employees. Study the figure and answer the 
following questions. 

Employees who are intelligent; hardworking 
and loyal but not Post graduate are 
represented by 
(A) 11 (B) 5 (C) 4 (D) 3 

Directions : In question nos. 7 and 8, one/two 
statement(s) are given followed by two conclusion/ 

" assumption, I and II. You have to consider the 
statements to be true even if they seem to be at 
variance from commonly known facts. You have 
to decide which of the given conclusion/assump­ 
tions, if any, follows from the given statements. 

7. Statements: All students are girls. 
Some students are not talented. 

Conclusions: I. No student is talented. 
II. Some girls are talented. 

(A) Only I follows 
(B) Only II follows 
(C) Both I and II follow 
(D) Neither I nor II follows 

8. Statements : 1. Tigers do not fly. / 
2. Hens do not fly. 1 

Conclusions : I. Tigers are birds. ' 
II. All birds cannot fly. 

(A) Only I follows 
(B) Only II follows 
(C) Either I or II follows 
(D) Neither I nor II follows 

SPACE FOR ROUGH WORK 
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6. HR ! 3rsf~ ~ aa a srf afzra, af r' 
fn~, frar ar caraastr s 3rraa at are 
afar~ ~ 1 rafk a rezaa at st ff#fa 
ri a set 
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(B) 

· 

(C) (D) 

EE4 
(A) (B) (C) (D) 

10. t aa smaff ~ a a snfR at afiq 
fre r arraf ffa t 
va 3rraf 

± er 3rafrat 

[vE Illa\[al 



1

1

1

! 12

J
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(D) 93 

(D) 49 

(D) 6 

(D) D (C) C 

(C) 87 

(C) 43 
. a0 ' 

2. Babyhood 
4. Infancy 

(B) 4, 2, 3, 1 
(D) 4, 3, 1, 2 

1. Adulthood 
3. Childhood 
(A) 4, 3, 2, 1 
(€) 4, 1, 2, 3 

Select the set of symbols which can be 
fitted correctly in the equation, _g4tr'' 
8 4 2 6 3-32 
0) ,,,.) +..+.- 52 
(C) +, +, , - (D) , , +, + 

27. 11, 12, 16, 25, ? 
(A) 45 (B) 41 

e t 1M uo & 28. 3, 9, 21, 45, ? 
(A) 54 (B) 78 

Directions : In question nos. 23 to 28, a series is 
given, with one term missing. Choose the correct 
alternative from the given ones that will complete 
the series. 

23. CDDP DEER EFFT FGGV GHHX ? 
(A) ZIIH ' () HILZ 4 
±s "7 « 1@,2»@?sr ° 
(A) pqrst lmnop 
(C) opqrs (D) hpqrs 

I AT NIE? 
d 
(A) A (B) B 

26. (). (4). () 1.. 4 
i t / t« 

0 (3) G» (3) «c 2 
/ 

Directions : In question nos. 20 to 22, which one 
of the given responses would be a meaningful 
order of the following ? 

20. 1. Village 2. State 
3. Nation 4. District 
(A) 1, 2, 4, 3 (B) 1, 4, 2, 3 
(C) 2, 3, 1, 4 (D) 4, 2, 3, 1 

21. 1. Branches 2. Root 3. Trunk 
4. Leaf 5. Flower 
(A) 4, 1, 3, 2, 5 () 2, 3, 1, 4, 5 
(€) 1, 2, 3, 4, 5 (D) 4, 3, 1, 2, 5 % 

T 

\ 

(B) 21:20 
(D) 48:35 

(D) STREET 
«i 

(B) MEET 

(B) Ashok 
(D) Mahesh 

If 44 +12=30, 77 + 14=61, 84+16=66 
then what should be for 44 +22= ? 
(A) 28 () 20 (C) 32 (D) 24 

(A) 20: 21 
(C) 35: 48 

be written? 

letters of the given word: 
KILOMETERS 

/ 
(A) OIL 
(C) TREES 

(A) Gopal 
(C) Prashant 

(A) Teenkari 
(C) Ramu 

¥ Ramu's mother has three sons. The eldest one . 
is called onekari, the second one is called 
twokari. Then the third son's name is 1 65 «» sae",Z- 

(D) Nokari g+ ­ 
Ashok is heavier than Gopal. Mahesh is 
lighter than Jayesh. Prashant is heavier than 
Jayesh but lighter than Gopal. Who among 
them is heavies ? 

18. 

(A) 7 1 4 6 5 7 8 (B) 6 5 4 7 8 7 l 
(C) 1 4 5 8 7 7 6 (D) 6 4 8 5 7 6 7 

17. If 7x = 8k and 5y =6k, then the value of 
ratio x is to y is 

16. If in a certain code 'Education is written as 
365798214 then how 'Conduct' can 

• r 

5. In a certain code language, if the word 
'RHQMBUS' ,is coded as TJQQDWU, then 
how is the word 'RECTANGLE' in that 
language : . 
(A) TGEVCPI,MG (B) TGEVCPING 
(C) TGEWDPING (D) TGFWEPING 

4. From the given alternative words, select the 
word which cannot be formed using the 

3. 

. 
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·, 

(D) 49 

(D) 93 

(D) 6 

(D) D 

(C) 43 

(C) 87 

2. R 
4. fa« 

(B) 1, 4, 2, 3 
(D) 4, 2, 3, 1 

, 
EFFT FGGV GHHX 'y ow 

(B) HIIZ 
(D) HLJZ 

23. CDDP DEER 
(A) ZIIH 
(C) HJJY 

24. I m n m no pno pqr? 
(A) pqrst (B) 1mnop 

. (C) opqrs (D) hpqrs 
25. R IA T NIE? 

(A) A () B (C) C 

6. (). (2 () 1.. 4 

0» () a (2) « 2 

21. 1. 3rgTq 2. 313 3. aa 
4. qeHt 5. �-- 
(A) 4, 1, 3, 2, 5 (B) 2. 3, 1, 4, 5 
(C) 1, 2, 3, 4, 5 (D) 4, 3, 1, 2, 5 

22. 1. ear t 2. tare' 

20. 1. 3I« 
3. r 
(A) 1, 2, 4, 3 
(C) 2, 3, 1, 4 

3. aa 4. 3f@ks 
(A) 4, 3, 2, 1 (B) 4, 2, 3, 1 
(C) 4, 1, 2, 3 (D) 4, 3, 1, 2 

fEr • a ~ 23~ 28 aa sraa fa t, fr 
a « ea 1fu vu firaeii i~ ae fa afig 
sit sras at a aRI · 

19. fR 8_" ? °. 332a ~ fret 
at afu sin a a fa t 
(A) , -, +, + (B) +, x, +, ­ 
(C) +, +, , (D) , , +, + 

far • var eien 20~ 22 aa fa fas~i ~ ~ 
ala-er frae HR fR zq sri at qr#a an aarfa ? ? 

5 
! () ie 

(D) tar~ 
(A) «iar 
(o) 

27. 11, 12, 16, 25, ? 

18. f~ 44 + 12 = 30, 77 + 14=61, 84 + 16 66R: (A) 45 (B) 41 
at 44 +22 = ~ fku a tar aft ? 28. 3, 9, 21, 45, 2? 
(A) 28 (B) 20 (€) 32 (D) 24 (A) 54 (B) 78 

16. zf~ qa ft ate 'Education' at 365798214 ~ ii fka sat ~ at'Conduct at 3~ fire s ' 
ran? ? 
(A) 7 1 4 6 578 () 65 47871' 
(€) 1 4 58776(D) 6 48 5767' 

17. af~ 7¢=8k s~ 5y=6k R, mt ar y ~ 
3r@rat at ma an ~ ? 
(A) 20 : 21 () 21 : 20 
(C) 35 : 48 (D) 48 : 35 

13. 3rra ar asa ·re ~ srfira ~ 1 ~r at aura 
rr ~ an ~ 1 aria ar aura st ~ srfra ~ 

far« mire ~ an ?Isa~ a~ rfra asra 
farea~ ? 

(A) ·itqre (B) 3rites 
«o ,_. «»ma 

14. fffaa fas«ii ~ ae arsaz afu sit feu a 
9raz ~ 3rd a aii a~ f earn snr at: 
KILOMETERS 
(A) OIL (B) MEET 
(C) TREES (D) STREET 

15. ta fr ale wr ii zfe ares? 'RHOMBUS' T 

at TJQODwU? ~ a r # 'RECTANGLE' ~ ft an srsz em ? 
(A) TGEVCPIMG (B) TGEVCPING 
(C) TGEWDPlNG (D) TGFWEPING 

z , . 
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(D) 30 

(D) 95 

7, 11, 15, 30 
(B) 11 (C) 6 

below: 
2.,3,,6, 
(A) 7 

37. ABB : EGJ :: FHL : ? 
(A) BDH () JMT cc) 

a#,y 
39. 2: 65 : 31: : 

(A) 78 (B) 80 (C) 85 
40. 17: 102 : 23: ?7 

(4) 112 () 138 (C) 216 () 413 ( 
41. 25 : 36:: ? t( %, 

(A) 9:25 (B) 16:25 8 '] 
c 25:49 @ 8:121) 

Directions : In question nos. 42 to 49, find the / 
odd word/number/letters/number pair from the_% 
given alternatives. 

42. (A) stare (B) glance lo ' 
«c look ,GD) hug 

43. (A) Analogy .(B) Reasoning 
(C) Decoding ( (D) Cycling U " 

44. (A) Nephrology (B) Astrology s 
(C) Pathology (D) Entomology ff' 

\ 

45. ��l :�!:q � �;;�u � 
46. (A) OTX () JMNQ , 

(C) EGIN (D) X2CG • 
47. (A) NMOK' () PKQJ 

r (C) RLSK (D) TGUF / 
48. 04) 997 () 976, (€ 28 () 895% 
49. 0$, 0@8 «6@ «0»(99 
50. Pick the odd number from the sequence 

35. BOOK : LIBRARY : ? : FILE 
(A) COMPUTER (B) DATA 

\ 
36 •. 

�C� :�L��R? 
I (D) BYTES 

(A) p () d (C) (D) ' 
' - ? FHH (D) JL 
{ 

zz«» ' 

(B) 18 km 
(D) 20 km 

13 15 12 
02 04 05 
04 05 08 
30 65 2 

(A) 64 (B) 69 (C) 65 (D) 68 I 
30. 20 30 12­ 

3 4 8 a, 
8O 2 116 L 
(A) 120 (B) 60 (C) 100 (D) 140 

31. Hospital is 12 km towards east of Rupin's 
house. His school is 5 km towards south of 

29. 

JA 2015/Page 8 

Directions: In question nos. 33 to 41, select the 
related word/letters/number from the given alter­ 
natives. 

33. CHAIR : FURNITURE : : FORK : ? 
(A) SPOON (B) CUTLERY 
(C) CROCKERY (D) FOOD 

34. Compass : Ship .. Vaastu : ? 
(A) Building (B) Flat 
(C) Home (D) Land 

.. 

re·a, 
Directions : In question nos. 29 and 30, select the 
missing number from the given responses. 

\ 

Hospital. What is the shortest distance 
betweed Rupin's house and school ? 

) (A) 16 km . (B) 17 km 
(C) 12 km (D) 13 km ./ 

32. Two cars started from a particular spot. The 
car A ran straight at the speed of 30 kmph 
for 2 hours north and then took a right turn. 
'I ran 40 km and again tumed right. It 

< stopped aner 30 km. The car B ran straight 
towards east at the speed of 20 kmph for 
2 hours and turned left. It ran for 10 km 
and then stopped. How far were these two 
cars from each other when both of them 
stopped at last ? 
(A) 17 km 
(C) 19 km 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2, 3, 6, 7, 11, 15, 30 
(D) f (4) 7 () 11 (€) 6 (D) 30 

35. tr : Barera :: : 9r« 
(A) .aa (B) sre 

lee / 

(C) (D) a 
36. q: d:: b:? 

, / 

(A) p 0) d (C) q (D) b 
37. ABB : EGJ :: FHL :? 

(A) BDH (B) JMT (C) FHH (D) JJL 
38. EV : KP :: TG : 

(A) ZA (B) AZ (C) zz (D) AA 
39. 21 : 65 :: 31 : 2 

(A) 78 (B) 80 (C) 85 (D) 95 
40. 17 : 102 :: 23 : ? 

(A) 112 (B) 138 (C) 216 (D) 413 

45. (A) accdff (B) prrsuu 
(C) mnnoqq (D) eggbjj 

46. (A) OQTX (B) JMNQ 
(C) EGJN (D) XZCG 

47. (A) NMOK (B) PKQJ 
(C) RLSK (D) TGUF 

48. (A) 997 (B) 976 (C) 778 (D) 895 
49. (A) 8 (B) 87 (C) 111 (D) 96 

50. ffefa a ii ~ fun zin at aaa at. 

41. 25 : 36 :: ? 
(A) 9 : 25 (B) I 6 : 25 
(C) 25: 49 (D) 81 :121 

fr&st. a ~en 42~ 49 aa# f fraeii ## ~ 
firs sraz/tie/3re/in g af I 

42. (A) ea &ea () gfra 
(c) ~err (D) nfka 

43. (A) re (B) af 
. (c fasten (D) arfe eat 

44. (A) aaer frra () szlfa 
(c) frafa frsr (D) re farsra . � 

(D) 68 

13 15 12 
02 04 05 
04 05 08 
30 65 ? 

34. aW: rt :: a4 : ? 
(A) raa (B) Re (C) 

fr~st. yea tie 29 s 30 f fad ii ~ a 
3ia a &fr L 

29. 

(A) 64 (B) 69 (C) 65 

30. 20 30 12 
3 4 8 

80 ? 116 

(A) 120 (B) 60 (C) 100. (D) 140 

31. 3rear efa ~ ~ ft i 12km& I ear 
var 3rare ~ fer ft 3r 5km fa ~ 
r srt tae ~ ala ta~ a an ? 
(A) 16 km (B) 17 km 
(C) 12 km (D) 13 km 

32. ta f era ~tad ea sniw far Ia 
4<~ 30mph ft fa ~ a ft si 2si aa 
en st fs as me +{ Ia 40km et st 
f ~ ed me r! I 30 km~ are as a ·! 
r 3 20kmph 4 f~ ~ 2 aa f f&an 
fr sit ht st f ard 7{Iv& 10km ant 
3r f sas ! I3ia ii sa ~a at s !at~ 
e z« ~fa zit ? 
(A) 17 km (B) 18 km 
(C) 19 km (D) 20 km 

fr&sr • a zien 33 ~ 41 ae ~ f a faael i ~ 
zrafa sra/srd /isen as afu 1 

33. gif: fa f:? 
(A) a. (B) acer~ 
(C) area~ (D) iara 
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TEST - II : GENERAL AWARENESS 

(B) Bachhendri Pal 
(D) Leela Seth 

(A) Santosh Yadav 
(C) Rita Faria 

60. A plumb bob is hanging from the ceiling of a 
car. If the car moves with an acceleration a, 
the angle made by the string with the vertical is 

«a[;] «a» a({) 
«o(;) «» ({) 

61. Who is called the 'Father of Indian 
Cinema'? 
(A) Raj Kapoor 
(B) Dilip Kumar 
(C) Mehboob Khan 
{D) Dada Saheb Phalke 1 

62. Name the first Indian woman to climb 
Mount Everest 

(B) Water 
(D) Contact 

() 2 ATPs 
(D) 4 ATPs 

fennentation results in net 

produced from 
(B) trichoblasts 
(D) epidermis 

to 
(A) Gravity 
(C) Light 

Root hairs are 
(A) trichotes 
(C) rhizodermis 

SI. The storage fonn of glucose is 
(A) Insulin (B) Glycogen 
(C) Glucagon (D) Fructose 

52. Thigmotropism is the response of the plant 

53. 

55. Glycolysis during 
gain of 
(A) 1 ATP 
(C) 3 ATPs 

. 
54. Second Ozone hole was detected over 

(A) Antarctica 
(B) Artica 
(C) Sweden 
(D) Northern hemisphere 

59. A block placed on an inclined plane of slope 
angle 6 slides down with a constant speed. 
The coefficient of kinetic friction is equal to 

56. The disadvantage of self-pollination is 
(A) seeds are less in number 
(B) no dependence of pollinating agents 
(C)' mechanism is too simple 
(D) no wastage of pollengrains 

57. By increasing the intensity of incident light 
on the surface, the photo electric current 
(A) increases 
(B) decreases 
(C) unchanged 
(D) increases initially and then decreases 

58. The Phenomenon of light spiltting into seven 
distinct colours when it passes through prism 
is 

66. Usain Bolt is famous as 

64. Nehru Trophy is associated with which sport 
in India? 

(B) Myanmar 
(D) China 

(A) Football 
(B) Cricket 
(c) Hocky 
(D) None of the above 

(A) Nepal 
(C) Bangladesh 

63. Which IPL Team won the eighth edition of 
the Indian Premier League ? 
(A) Mumbai Indians h 
(B) Chennai Super Kings 
(C) Deii Daredevits ( 
(D) Kolkata Knight Riders 

65. Aung San Suu Kyi, a prodemocracy 
campaigner, is from which of the following 
countries ? (B) polarisation 

(D) reflection 
(A) diffraction 
(C) dispersion 

(A) sin 0 
(C) tan 0 

(B) cos 0 
(D) cot 0 

(A) an astronaut 
(C) an athlete 

(B) a boxer 
(D) a cricketer 
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u?err JI 
51. Teals a iaa ezr au ~ ? 

(A) zera 
(C) +a3sfrs 

(B) +zaslsr 
(D) are 

60. Qa a ft aa ~ e era aria aea er~fzf 
ar a err ~ aa zh~at ssf ~ gr a 
are al ~ 

52. rarfafa fa~ fa re t 3frfan ? 
(A) Toca (B) Her 
(C) arr (D) zif 

53. Her feR er R ? 
(A) war () ata 
(O) Har era (D) aer ere 

54. @e sis»a fe asi ~a a ? 
(A) sizfa () nfat 
(C) visa (D) a miarf 

55. fuaa ~ verafkfue ~ qf care 
frat arr zar ~ ? 

«» «»({) 
» a»() 

() arr; re 
(D) it ~ 

«» [;) 

« [;) 

62. i qeee a are~l est a mf~e a 
a ant ~ ? 
(A) ziart area 
(C) er at 

61. ia fn a seas f~ aer sen ~ ? 
(A) «r a () fen gr 
(c) eaa era (D) erer er~a re~ 

« 

63. re~a jfa¢ it at snai ziasr fe 
3m! hi sna ? 

(A) Brar! zfire 
() r{ e f~we 
(c) fen afes 
(D) atasra are reef 

64. es zif ~ fa ~a ~ raa~ ? 
(A) 9earra 
(B) fr~e 
(C) i$ 
(D) fa # ~ at! at 

6s. 3min ?a gz far, ta aitaai saa 3rfraa 
fffa ~ ~ fa ~sr era nan ? 
(A) re () +4ir 
(C) airer ear (D) sa 

66. a a fre sq # gfz t ? 

(A) Ue siafte arft () Ur arr 
(€) ta Uren (D) qa fs~a farer 

(B) 2 ATPs 
(D) 4 ATPs 

(A) 1 ATP 
(C) 3 ATPs 

56. ~ aa f Rt ~ ? 
(A) asii A ~en a en ~ 
(B) rra are At at! frfa at R 
(c) faff~r area ear eh 
(D) auii a at! aart at zR 

57. «ae snqfea yamar ft iraa sea~ ~ arr ~ea era 
(A) are eh ~ 
() rz snnl ~ 
(C) 3rfaffa eel ? 
(D) rr # arent ~ s ft ant ? 

s8. fre ~ gr e aa ffre iii ~ fre amur ft 
qfeat al aa aer war ~ ? 
(A) firaf (B) itac 
(c)y fur (D) raf 

. 59. a o ~are~ 3naa za «a ta are qe aft~~ f ai eaat? 1 fas fr a 
via fe~ a«are cm ? 
(A) sin 0 (B) cos 0 
(C) tan 0 (D) cot 6 
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67. Which of the following is the morning 

68. When was the first All India Postage Stamp 
issued? 

70. The murder of Archduke Ferdinand and his 
wife triggered off which of the following 
events ? 
(A) Crimean War 
(B) Balkan War • 
(C) First World War 
(D) Second World War 

(A) air pollution _} 
(B) contamination of ground water 4 

(C) increased use of land for landfills 2 
(D) None of the above 

__,- 

77. When is the World Earth Day celebrated ? 
(A) 4 April 'lr- () 22 April 
(C) 1 May .f (D) 23 March 

78. World "No Tobacco Day" was observed 
globally on 
(A) 31 May (B) 2 June 
(C) 15 June (D) 20 June 

82. The Maratha ruler Shivaji ruled his kingdom 
with the help of a Council of Ministers called 
(A) Ashtapradan (B) Ashtadigajas 
(C) Navarathnas . (D) Mantriparishad 

83. Ms. Florence Nightingale was associated with 
(A) Seven Years War 
(B) Thirty Years War 
(C) Crimean War 
(D) Hundred Years War 

79. The greenhouse gases, otherwise called radio­ 
actively active gases include 
(A) Carbon dioxide (B) CH, 
(C) N,O (D) All of these 

80. The most serious environmental effect posed 
by hazardous wastes is­ 

76. Non-bonding valence electrons are 
(A) Involved only in covalent bond forrnaf 

tion 
(B) Involved only in ionic bond formation l 
(C) Involved in both ionic and covalent/ 

bond formation · · 
(D) Not involved in covalent bond formation 1 

81. Which Delhi Sultan resorted to price conto! 
and rationing? 
(A) Balban 
(B) Muhammad-bin-Tughluq 
(C) Bahlul Lodi I 

. (D) Alaud-din-Khilji 
r 

I 

\ l 

'Y pH meter 
barometer ) 

(B) Egypt 
(D) Japan 

(B) 1858 
(D) 1856 

(B) Bhairavi 
(D) Malhaar 

(B) Unaffected 
( () Constant 

was paper currency first 

The gas dissolved in water that makes it 
acidic is 
(A) hydrogen () nitrogen 6 @ 
(C) carbon dioxide )(D) ammonia 

When salt is added to water, the boiling point 
of water is 
(A) Lowered 
(C) Increased 

The hydrogen ion concentration of a solution 
is measured using a 
(A) thermometer (B) 
(C). hydrometer ,(D) 

'Raag' in music ? 
(A) Sohini 
(C) Sarang 

75. 

74. 

73. 

72. 

71. com represents ? 
(A) Communication domain 
(B) Educational domain 2 

(C) Commercial domain V 
(D) Government domain d 
IKE stands for 
(A) Internet Key Exchange 1 
(B) Information Key Execution t 
(C) Information Key Exchange 
(D) Infrastructure Key Encryption 

(A) 1854 
(C) 1850 

69. In which country 
used ? 
(A) India k 
(C) China 
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76. sraait~t « zaea 
(A) ~aa.geeizsit srraiu fa ~ snfe et t 
(B) ~aa 3nu·ht 3raie far ~t anfre ea ~ 
(C) mar·it «eiasit ~al srsi anfre 

R # 
(D) eizsn sraia fora afire at 

77. fa zit fRare aa aat a ? ? 
(A) 4 3re (B) 22 3re 
(C) 1#£ (D) 23 rf 

78. fa i araa fta fare aa rarur sa ~ ? 

(A) 31#£ (B) 2 
() 15 Ma (D) 20a 

79. a ~a sea j ii al mt afire { fr 
3r«ran f&a tfaa ~ fa aer sa t 
(A) araf er! 3rare 
(B) CH, 
(C) N,O 

(D) zi ~ en 
80. rares 3rfrre serif ~ zt are aff~ea 
is~a qzfaruil ra an ? ? 
(A) a er 
(B) rel eies 
(c) #s free ~ fkru fr ar srfras ant 
(D) fa ~ a at 

81. fR«ht ~ fa gear fa jar s aura 
awaeant 3m ft sit ? 

(A) srerera (B) mere-fsra-arers 
(c) areeila ail (D) res~a fen 

• 82. Ft ares frasit s au ar ana fre rif . 
fore Gr era ~ fat sRt at aer a ~ ? 
(A) 3rear (B) 3refers 
(C) a«ea () rifruftse 

83. gnt are rf fa z ~ rag~ ? 
(A) a afia zz () «n afia ge 
(c) ffraa zed (D) ara iia'gz 

() zfre 
(D) rra 

(B) pH he 
(D) 3~la 

(A) a 
(c) ala 

67. mi~la fffa ii ~ ala- a:aria 'a' 
?7 
(A) mfn () an 
(c) arc (D) PH«Gr 

68. eet 3fa rila sre-fas aa as fa nan 
n ? 
(A) 1854 (B) 1858 
(C) 1850 (D) 1856 

69. fe ~er ~ a~ e~ aa me a at fa 

70. 3rTfsae fie st aaft en ft sen ~ arr 
feffa #~ at ht aa fa ? 
(A) frfrra ge 
(B) aeara zz 
(C) a fee ge 
(D) fa~ta free gz 

71. .com nr fsfa acer ~ ? 
(A) ~iar ~la () fr &ra 
(C) affsra ~re (D) «carat &a 

72. IKEr ared an ~ ? 
(A) gee fl var~is 
(B) 7fra ft ail«rr 
(C) gerifra f t@Ra 
(D) z·5rear ft ae ea 

73. ra we i era feuqt a ~ mt so ar aaaaia 
fkg n et ar ~ ? 
(A) a st sat? () srfa ear 
(c) a sar? () fer at 

74. a h # said fed a~ srr~a at n &.7 
(A) 61tsra (B) Hrsra 
(C)y arafa er srfas (D) 3mtfa 

. . . '· 
75. qe frua ~ srssa snuqa zrr at fae~ 

oHra ~ ? 
(A) zr 
(O) sr~le 
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87. Which one of the following is first multi­ 
purpose project constructed in India ? 
(A) Rihand (B) Thungabadra ) 
(C) Farraka Barrage (D) Damodar 

88. What is the symbol of (WWF) World 
Wildlife Fund? 
(A) Red Panda (B) Rhododendron , 
(C) Bear 

1 
(D) White Tiger .J 

89. Market Gardening comes in this category 
(A) Horticulture 
(B) Monoculture 
(C) Subsistence farming ! 

(D) Sericulture 
i 

90. A deep or french in the ocean floor is ·called 
(A) Ridges 
(B) Crest 
(C) Trough 
(D) Continental Shelf 

91. Name the co-operative society that provides 
housing loan facility at reasonable rates 
(A) Credit co-operatives 
(B) Housing co-operatives f 
(C) Consumer co-operatives 
(D) Producer's co-operatives 

92. Name the biggest employer in India 
(A) Steel Authority of India Ltd (SAIL) 
(B) Post & Telecom Department 
(C) Food Corporation of India (FCI 
(D) Indian Railways 

84. Who among the following Gupta 
was known as 'Vikramaditya' ? 
(A) Samudra Gupta 
(B) Kumar Gupta } 
(C) Chandra Gupta I 
(D) Chandra Gupta 11 / 

In the presidential system of government, the 
President is 
(A) Head of the state 
(B) Head of the state and Head of the s] 

{ 

/ 

Government 
(C) Head of the Government 
(D) Head of the Executiv.e 

96. 

97. The Chief Election Commissioner of India is 
appointed by 
(A) Chief Justice of India 
(B) Prime Minister I 
(C) President / 
(D) Parliament 

98. The Election Commission of India is 
(A) An independent body / 
(B) Quasi-judicial body J 
(C) Quasi-legislative body gh 
(D) Executive body 

Which of the following is an allied activity of 
agriculture? ) (A) Livestock } 
(B) Small scale Industry •V 
(C) Money lending ¢ 

r (D) Insurance) 

94. Disguised unemployment means 
(A) Working as Self-Employed }­ 
(B) Not working whole day ­ 
(C) Marginal Productivity is zero ' 
(D) Production is less o 

95. Cartel is a part of 
(A) Monopoly J 
(B) Oligopoly () 
(C) Perfect competition 
(D) Monopolistic competition 

99. Articles 23 and 24 of the Indian Constitution 
deal with 'r+ 

(A) Right against Exploitation 2X 
(B) Right to Freedom .../ 
(C) Right to Freedom of Relisi9 
(D) Right to Education / 

100. Which of the following ideologies aims at.the 
spiritualization of politics ? · - 
(A) Marxism (B) Socialism 
(C) Sarvodaya (D) Pluralism ( . 

emperor , 

fabric made in 

(B) Muslin ) 
(D) Palampore 

(B) Medium staple 
(D) Thick staple v 

type of cotton grown in 

The finely painted cotton 
Golkonda was called 
(A) Calico 
(C) Kalamkari 

8S. 

86. Which is the best 
the world ? 
(A) Long staple 
(C) Shor staple 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

84. faffa ~ ala a z ea 'famfRea' , 93. faff«a i ~ af ~ rag arfaer ala-a ~ sat ar a ? ~? 
• (A) TH (B) @ 

(C) a I (D) « TR II 

85. ·easier i aa a aR fsaa ~ e fq 
1q el a? alt an aet sar at ? 
(A) fas (B) Ferrar 
(c) aarasr (D) ate 

86. ft ~ gamut a arer qaif a al ae 
al-mr~ ? 

(A) tf tart () +Ea n 
(c) erg ?an (D) ere am 

87. faff~ra ~ at-mt eant as~fa frat 
at ff ea i faa nan ? 
(A) fis () @ja 
(C) a sr (D) rile 

88. WWFf~ta aa sflaa ff at ila fe «n 
~?7 

89. arr arah fa u~ snit 2 
(A) a sf 
(B) er af 
(C) s~fa ~R 
(D) ?r fterera 

90. Ir ae ii fa a ar at ar aer sra 
? 

(A) fan () ce 
(c) zfires (D) rt~a ~res 

91. a ear ff a m an~sit afa a 
ff arr qf~en gr ant? 
(A) r ea~d fif: 
(B) 3Tarra ear afirfe 
(C) r ear «ff 
(D) area ear ff# 

92. a it a~ ae fat ala ~ ? 
(A) rend zeta faw (~er) 

·"()y srz zat farm 
(c) ft ara fr ( zit sir) 
(D) rha ta~a 

(B) erg sail 
(D) a 

(A) Rrera 
(C) ea e ~at 

rrhf at srtzalacur ? , 
(A) fare () ersrare 
(c) rafa (D) ager« , 

94. ad at 3rf ai ~ ? 

(A) a sre ~ s ii arf acat 
(B) RR fa rf a aa 
(c) ta seam rar eat 
(D) ere an star 

95. ar frat a a ~ ? 
(A) qatf~as (B) 3refrasr 
(C) f euf (D) tarf&ras~ eref 

96. a ft raze~q ii zf~ an ~ ? 
(A) I at 3rEzre 
(B) 6 ar 3rEz 3 er at 3rErt 
(C) Ra at 3rEzrer 
(D) arfrfre ar 3rEre 

97. =ra ~ e fafsa sr ff fe~ zr 
f sh ~ ? 
(A) Ka He +rurejr 
(B) Tint 
(c) szfR 
(D) kier 

98. a a frafa snat 
(A) rein far R 
(B) 3rf nfira fires.a 
(c) 3rf fart faa 
(D) af rera fasta 

99. ~ta f#era at 3re 23 3 24 fa iaa ~ 
7 

(A) ·tu ~ free srf&rear 
(B) aiar at sf&rate 
(C) ef ft zaaiaar a srfrar 
(D) frent at srf&rare 

100. faff~a ii ~ ala mt farer at ~sq ---- 

() et«gia 
(D) s~a ar 

(A) rar ier 
(c) =a 
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· (7> RS 
TEST -- III : GENERAL ENGINEERING (MECHANICAL) 

101. In a homogeneous, isotropic elastic material, 
the modulus of elasticity E in terms of G and 
K is equal to 

i03. Two springs of stiffness k, and k, respec­ 
tively are connected in series, what will be 
the stiffness of the composite spring ? 

102. In a composite bar the resultant strain 
produced will be 

(A) sum of the strain produced by the 
individual bars 

(A) 

(D). 

to convert the heat supplied into 
complete work energy under reversible 
conditions 

(B) to convert the heat supplied into com­ 
plete work energy under all conditions 

(C) to produce useful work from the heat 
received from a source and also rejects 
the remaining heat to the sink under all 4 
conditions 
to produce useful work from the heat 
received from a source and also rejects 4 
the remaining heat to the sink under 
reversible conditions 

106. As per first law of thermodynamics, when 
any system confined within a boundary is 
carried through a series of operations such 
that the final state is same as the initial stat e, 
then · 
(A) the net work transfer is higher than the ,, net heat transfer 

AB) the net work transfer is lower than the y / net heat transfer 
(C) the net work transfer is equal to the net 

heat transfer 
(D) the net work transfer is equal to or· 

higher than the net heat transfer ' 
107. Enthalpy is calculated as the 

(A) sum of internal energy and the product 
of pressure and volume of the system 

(B) sum of internal energy and the product 
of pressure and density of the system 

(C) difference between the internal energy 
and the product of pressure and density 
of the system 

(D) difference between the internal energy 
and the product of pressure and volume 
of the system 

108. The area· below the p-V diagram of a non­ 
flow process represents 
(A) heat transfer (B) mass transfer 
(C) work transfer (D) entropy transfer 

109. A heat engine is a device that operates on a 
thermodynamic cycle 

I 

9KG 
3G +K 

6KG 
(D) j+3G 

(B) 

() i.+k 
kk, 

(D) k=kk, 

same as the strain produced in each bar 
difference of strain produced by· the 
individual bars 

same as the stress produced in each bar 

3K +G 
3G +K 

5r 0 and 2F,=0 4' Y 

F,=0, 2F,-0 and 2M. ~a.-0 
F,-0, SF,=0 and SF,-0 
F,-0, F,-0, 2F,- 0, 
2M,=0, 2M,=0 and 2M,=0 

9KG 
( +3K < 
(C) 

(B) 

? 
(D) 

(A) I_ kk 
k, +k, 

(C) k=k+k, 

(A) 
(B) 
(C) 

(D) 

104. A solid shaft transmits 44 kW power at 
700 rps. Calculate the torque produced 
(A) IO Nm (B) 100 Nm 
(C) 600 Nm (D) 60 N i 

What are the equilibrium conditions to be 
satisfied for a particle applied with a system 
of non-coplanar concurrent forces ? 

SPACE FOR ROUGH WORK 
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(A) k.k 
k, +k, 

(C) k=k,+k, 

(A) 10 Nm 

(C) 600 Nm 

() .{tk 
k,k, 

(D) k=kk, 

(B) l0ONm 

(D) 60 Nm 

106. arf6 ~ er fa ~ sraer a fl 
fa fffra fsAt fire al a sifsas~i zu 

. sa at ~ srn saran f% ifa ferfa grifrs 
fefa 3 z, a 
(A) faer sf siacu fee as 3racur ~ 

3rfiras zta ~ 
(B) faer arf situ fa asst siauur ~ au 

Z.'..sea an an 
rat slat ~ 

(D) fae af siacur fae sun iauor ~ 
are ar arfra zta ? 

107. ~left ar ftasera faun tar ~ ? 
(A) 3riafta sf at era ~ sere at fee ~ 

3riaa ant 
(B) 3riaftas sf at era ~ see art fee ~ raa_~ j 
(c) riafts ssf st er ~ sere st fRee ~ 

ge ~ ala siac 
(D) 3riaftss sf 3t azra ~ sere at fee ~ 

3Hra ~ sfla 3jau 
108. 35Jae fsan ~p -Vern ~ at c 

fa~ efa 7 
(A) 3uII 3iauur .(B) gera 3iauo 
(C) arf iact .(D) @if siact 

109. ar ira.ts qr ~ st ar fa ft aa 
fa feu seer can ? 
(A) en! St n{ smn1 a f~a ffaa i q0 

a aaf ~ ufafa au 
() eren$ St n{ as at id fefiai ~ @ 

urf ssf i ufaf#a au 
(c) fed a ~ s sun ~ aft ari sea au art st 3sf alt an ffa~i ii fWa i 

ere 
(Dy fed a ~ un ~ sat ari 3era a 3t sf al futa fefaaii ii f~a err 

• es lg la 700 rps 44 kw f afta a 
Rt3era arr r Nm qftae fr t 

res. 3rararefla, aft aeR ~ fee ~ qr 3e 
or ~ fu at-f rresn ferfai @ «Gt 
sen { ? 
(A) 2F,=O ~i 2F,0 
() 2F,=0, 2F,=o i M..=0 
(C) 2F,=0, F,=o i r,=0 
(D) 2F,=-0, 2F,=0, 2F,= 0, 

2M,=0, 2M,,=0 i M.=0 

e1. rift aveefas @re an~ iG s~tux t zf~ ~ err E at mia fess sat stat ~ ? 
t 

9KG 9KG 
}.sx " 5o.KR 
} 

3k+G 6KG 
; (O 3G+K (D) g+3G 
' ,nm. eig is sea fmn farafa fan n ? 
; (A) 3re-sr@mt di zr sea fasfa at an 

(B) eas ds sea faf ~ a fer 
(C) re-re di gr era f~sf at aia 

{ (D) etas de era fee ~ er 
{nd. rt: k, a k, t gear aefr amfaii at jsen 

ser sna ~ « ciga an G gaat fan n ? 

· : 
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110. Sub-cooling in a vapour compression cycle 

112. If w is the specific weight of the liquid and h 
the depth of any point from the surface, then 
the pressure intensity at that point will be 
(A) h (B) wh / 
(C) wlh (D) hlw 

d between 
(A) pressure, velocity and temperature 
(B) shear stress and rate of shear strain " 
(C) shear stress and velocity J / 
(D) rate of shear strain and temperature d 
The coefficient of discharge of an orifice 
varies with 
(A) Reynolds number 
(B) Weber number . 
(C) Froude number 
(D) Mach number 

119. In manometer a better liquid combination is 
one having­ 

117. Newton's law of viscosity is a relationshi 

(A) lower surface tension / 
(B) higher surface tension / 
(C) high viscosity-f / 
(D) low viscosity 

120. A micromanometer with inclined tube is 
\ called as . 

(A) inverted manometer 
(B) differential manometer 
(C) closed tube manometer 
(D) sensitive manometer 

121. Hydrometer is used to determine 
(A) density of liquids 
(B) specific gravity of the liquid / 
(C) flow of liquids 
(D) relative humidity 

122. Continuity equation for a compressible fluid 
is / 
(A) 4,V,=A,, 
(B) 0,4¥=,4,, (4-»area) 

4, A,, .1 (C) -- - -- (V ➔ ve ocity) 9, p, 

( P4_PM (po->»density) , v, 

and 

and 

and 

and 

fulfil the 

(B) Inverse type 
(D) Parabolic 

relation of the newtonian 

decreases the required work 
refrigeration effect 
increases the required work 
refrigeration effect 
increases the required work 
decreases the refrigeration effect 
does not affect the required work 
increases the refrigeration effect 

(A) 

(B) 

K 
111. An ideal flow of any fluid must 

following 
(A) Boundary layer theory A 
(B) Continuity equation / 
(C) Newton's law of viscosity A 
(D) Pascal's law , 

113. The stress-strain 
fluid is 
(A) Hyperbolic 
(C) Linear 

114. ·When a vertical wall is subjected to pressure 
due to liquid on both sides, the resultant 
pressure is the of the two pressures. 
(A) Sum (B) Difference « 
(C) Arithmetic mean (D) Geometric mean 

115. A flow in which each liquid particle has a 
definite path, and the paths of individual 
particles do not cross each other is called 
(A) Steam flow (B) Uniform flow 
(C) Streamline flow. (D) Turbulent flow 

. .' 

116. A fluid is said to be ideal, if it is 
(A) inviscous and incompressible _ 
() inviscous and compressible 
(C) viscous and compressible 
(D) viscous and incompressible 

SPACE FOR ROUGH WORK 
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{ma ars ei#ts ass ~ sfaea an aca ~ ? 
(A) 3rf&a arf st gfaa a al ere ?~ 
() 3rf&a arf st gfaa ya at aaran 
(C) srf&a asri at area ~ at yftaa wra 

al era 
(D) rf&ra ari at nf~a aff a n, 

yfar a at aarat 
• feAt ace ~s snesf ae a fffiaa i ~ 
fer4 f au.Al afRu ? 
(A) fria cat fqia 
(B) iae aflacul 
(C) =ea a naa ar fru 
(D) er a frau 
fR w ace a fafre asa ~ st as ~ fl 
fig 4 nu& , a area fa sa fig u fan 
zf ? 
(A) h (B) wh 
(C) wlh (D) hlw 

=re ace at free frasf kieiu a tar ~ ? 
(A) 3fRcaefires (B) er6n zr 
(c) faa (D) 9aaefres 
sr at aafut {ta ail acer ~ arr 
er ~ rd ft ~ ~t qfromf era d ereii ar an 
~la ~ ? 
(A) an (B) 3iae 
(c) nff4 re (D) snfrfl1 11E 

ms. fr as i els acer avr a1 ua ffaa er 
ear ~ at re-3re au~i ~ er ua et at 
a{f a~ a gee al ant a~ # ? 
(A) aI8 (B) I are 
(c) au sn a (D) fgee gar 

6. acer ~ 3a e s~ nesf aer mar ~ ? 
(A) 3ra ant 3rifle 
(B) 3rnr- 3rt kifrea 
(c) a ilea 
(D) a at sr~lea 

117. ea ar raa at fa fs ta at zisis k ? 
(A) <a, Ira arr 
(B) 3qr farer st 3res frasfa st e 
(C) 3rqur farer at er.aa 
(D) 3ror frsfa Gt ze st aria 

118. 3H at fares#a ris fse ~ fra tar ~ ? 
(A) as sia () ~et 3is 
(C) 913s 3j (D) ta 3ia 

119. #~fa i, ~ea acer zizsaa as ta 
fre i 
(A) an s aa () srfras gs at f 
(C) firs vrraanr ~ (D) an rrar s~ 

120. 3ra frat art rgasmhn at an ea{ ? 
(A) esn na 
() fa& Anet 
cc) ieafrea nine 
(D) ia& #n 
,I • • . 

121. gghfa et«gain feast frefer au ~ fu 
fan sat ? 
(A) el el rare4 

(B) auer at ara ac 
·(C) a«I t a& 
() ar 3nra 

122. fea aei at iae afar en ? 

(A) A,,=A,, 
() 0,4=p.4,Y, (4 -»» ~a) 

(o) A 4 (v-» era) 
0, P 

(b) 9AP2'2(o-»r.a) 
Y, 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

130. Steam nozzle converts ( 
(A) heat energy to kinetic energy k 
(B) kinetic energy_ to heat energy . 
(C) heat energy to potential energy 
(D) potential energy to heat energy o 

131. The degree of reaction ofa steam turbine is the 
ratio between the enthalpy drops in 
(A) moving blades and that in the stage 
(B) moving blades and that in the nozzle 
(C) in the nozzle and that in the moving 

blades 
(D) in the nozzle and that in the stage 

132. The expansion process in the throttling device 
of a vapour compression cycle is 
(A) isothermal process 
(B) adiabatic process 
(C) isenthalpic process./ 
(D) isentropic process 

133. Lowering the evaporator pressure in a vapour 
compression cycle 
(A) decreases the required work and COP 
(B) increases the required work and COP 
(C) increases the required work and decreases 

the COP 
(D) decreases the required work and increases 

the COP 
134. In ammonia-water vapour absorption refrig­ 

eration system 
(A) ammonia is the refrigerant and water is 

absorbent 
(B) ammonia is the absorbent and water is 

refrigerant ­ 
(C) both ammonia and water are refrigerants 
(D) both ammonia and water are absorbents 

135. Air refrigeration is preferably used in 
aircrafts because 
{A) it uses air that is available in plenty in 

the atmosphere -e 
(B) it has high COP . 
(C) its weight per ton of refrigeration is low 
(D) it is cheaper y -- 

(B) higher 
(D) not related 

For the same maximum temperature· in the 
cycle, the average temperature of heat / 
addition of a Rankine cycle compared to that 
of Carnot cycle is 
(A) lower 
(C) same 

as a 
(A) natural convection fire tube boiler 
(B) forced convection fire tube boiler 
(C) natural convection water tube· boiler 
(D) forced convection water tube boiler 
Boiler accessories are used to ensure 
(A) improved performance Ad ( 
(B) safe operation # 0 
(C) easy maintenance k %ll' 
(D) automatic control 
The Benson .boiler has 
(A)two drums -one for water and another 
· l for steam . · 

(B) a horizontal steam drum 
(C) a vertical steam drum 
(D) no steam drum 
For air compressor, least work input will be 
needed if the compression is 
(A) isentropic (B) isothermal 
(C) polytropic (D) hyperbolic 
Rotary compressor is best suited for 
(A) large quantity of air at high pressure 
(B) small quantity at high pressure air 
(C) small quantity at low pressure air 
(D) large quantity of air at low pressure 

123. 

124. If a reheater is added to a Rankine Cycle, I 
then usually, 
(A) the net work and efficiency increase / 
(B) the net work and efficiency decrease ¢4 
(C) the n~t work remains same and 

efficiency increases 
(D) the net work increases and efficiency 

remains same 
125. The Babcock and Wilcox boiler is considered 

128. 

U 
/ 

127. 

126. 

r 12•. 
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(B) 
(C) 
(D) 

f..5. 
as 

130. r tsre an qftafa acat ~ ? 
(A) a sf at fas assaf i 
(B) nfRe 3sf at a 3sf i 
(C) a aaf at fa sf ~ 
(D) frra 3sf ast a af ii 

131. Hi car a fafan afe fsa sen a ~ afa at 3raa ~ ? 
(A) ea s@si at racenr 
(B) aa ssi st Rae ~ 
(c) isre ~ st ere slsi i 
(D) sre i st race i 

132. r ifs as «ft ta zfr i at fs6an 
~n @in ? 
(A) a aft fan 
(B) 6z fan 
(c) a vent fa 
(D) an in fr 

133. arr ifea ea i aft era al an au ~ 
(A) 3rf&ra arf at eftat ear 

(B) sf&ra asrf 3rt def agar ~ 
(c) 3fa arf «aat ? at sift aza ~ 
(D) 3rfa arf rem ~ st ft# sea R 

134. 3mtfu arr arr raster yflar neft ii 
(A) 3n~fun gflaas zat ~ at srea arasses ra 
(B) 3~fut st@sires stat at re sflaa 

star & 
(c) mfr at sre fare Ra # 
(D) 3mlfrn a srear ii srarlas ~ 

135. agar a faa ~ ant l atara al & 
sf ? 
(A) e am et art acar ~ sit arise i 

«&arra i aqersu Rt ~ 
zqi sa fsinl za ~ 
sear f~ea yflaa aaa an ta ~ 
vs can star ~ 

123. aura arfraa arm ~ feu alas G 
@era ii fa as St a sf& at ta aria 

far s~ 
(A) en (B) 3fra 
(C) a (Dy iaifa =&f 

124. af tfa ass gale err sat ant 
.-rd4 

(A) fare arf at zerar ea snl ~ 
(B) fare r at zgrar e ann 
(c) fee ar aaa ? ear ~ st ear g 

nn ~ . 
(D) fer af aea sa ? st z&rat sat Al 

+ ft k 
:i,. 

,125. #eras st faerasfare ajrere at seen 1rt 
sa&7 

jkt (A) +arfres ias srf afresr are 
; (B) gtfRa kiasa re afrat airer 

(C) canfa vies uar frat afar 
(D) tf~a tiara srer afrat alert 

. aet 3auif at an ri gffsa a ~ 
fu fan sat ~ ? 
(A) 3a fsrea (B) gfra seer 
(C) g arr (D) aafra friars1 

. ~.a afet ~ an a ~ ? 
(A) g-u r# ~ feru 3rt a nu ~ fu 
(B) e &fs r gs 
(C) Ur acafu g 
() at& nr g a&t ta 
arg ehfga ~ fq, «fga r st =a 
af far ft anaram fi ? 
(A) def (B) Harl 
(c) ifreifa (D) 3rfRcarfres 

j• ff ~fea fse~ feq aaffr s9a la ~ ? 
(A) aw era a ft 3fa 11a 
(B) 3a era a an m 
(c) fe ea arg en man 
(D fr ea e er G srfra 1r 
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() 10 sin 30 N 
(D) 10/sin 30 N 

(D) nd'/64 

(A) 10 cos 30 N 

(C) 10/cos 30 N 

(C) nd32 

143. The point of contra-flexure occurs only in 
(A) Continuous beams 
(B) Cantilever beams 

( C) Overhanging beams 
(D) Simply supported beams 

Which of the following theorem is used fo 
the equilibrium of the body applied wi 
three concurrent coplanar forces ? , 

144. 

(A) Varignon's theorem 
(B) Lame's theorem 
(C) Pythagoras theorem 
(D) Hamilton theorem 

145. A body of mass 5 kg accelerates at a constant 
rate of 2 m/s' on a smooth horizontal surface due 
to an external force acting at 30° with horizontal. 
The magnitude of the force is 

146. In case. of a circular section the section 
modulus is given as 

(A) ndn16 (B) ndh6 

147. Leaf springs are subjected to 
(A) bending stress 
(B) tensile stress 
(C) shear stress 
(D) compressive stress 

148. The strength of the beam mainly depends on 
(A) centre of gravity of the section 
(B) its weight 
(C) section modulus 
(D) bending moment 

as) {-1o0 

(o)· 5.=2-0 o, 915 
0, 

What is the ratio of maximum tangential 
stress (o,) and maximum radial stress (o,) of 
a solid disk flywheel ? 

0 {-os 

(C) 

137. The cone angle of a pivot bearing is increased 
by 2%. The maximum load carrying capacity at 
the bearing will increase by 
(A) 0-05% (B) 1% 
(C) 0-5% (D) 0% 

138. Why are gear teeth made harder? 
(A) To avoid wear 
(B) To avoid pitting 
(C) To avoid abrasion 
(D) To avoid tensile strength 

139. A structural member subjected to an axial 
compressive force is called 
(A) beam (B) Column 
(C) frame (D) strut 

140. Volumetric strain of a rectangular body 
subjected to an axial force, in terms of linear 
strain e and Poisson's ratio , is equal to 
(A) e(1-2) (B) e(I-µ) 
(C) e(1-3) (D) e(1+) 

141. Torsional rigidity of a solid circular shaft of 
diameter d is proportional to 
(A) d () (o d/ () 1/d? 

142. Two shafts, one solid and the other hollow, 
are made of the same materials and are 
having same length and weight. The hollow 
shaft as compared to solid shaft is 
(A) More strong 

' (B) Less strong 
(C) Have same strength_ / 
(D) None of the above 

\ 136. 
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ACADEMY OF ENGINEERING COMPETENCE 

·136. at afa firers fRt ~ arfa cs 
farer (o,) 3~ rfrasau fr 9freer (o,) a 
3Hara an ? 

139. 3Hf idea a ~ arf i(eater ea alt 
ar aea4 ? 
(A) fl (B) aie 

] (c () 2as 
' 140. tfisra fr3sf e sit sari 3rara 3r 

3r&fl are ~ 3rfj 3mrarar ail ft snaa# 
fraf fir~ are zinl ? 
(A) e(1-2) (B) e(1-) 
(C) e(1-3) (D) e(1+) 

141. ·na d~ t art a 4t ~a zea fgR arra f $ 7 
(A) d () d (c) d' (D) / 

} 142. ~ , ua i t a stren a anra eri 
j ~as~, 3a#l eia& art asa n a 1 
] ?ta sf aera @sen sta 3a n ? 
} (A) 31fires voaraa 
} (B) r sea 

(C) Ha al at 
(D) 33je i ~ al% f 

(B) nd/16 
(D) nd'/64 

(A) nd/6 
(C) nd'/2 

... , afil -�- ..... ij ..... -� 

..... 

(A) qaa af ·E 

(B) 3that ta p 

(C) veis# fl 
(D) II- a aref ah 

144. fa asaff araeftu ae ~ are yg fe & 
reran ~ fu fefkfia i ~ aad yi 
at amt fan an ~ ? 
(A) 0g it () ra iu 
(c) I&writ s (D) &fie ia 

145. 5fun gen fs 30° fas« qt fra a? ae ~ arr fras &fs qae 2 ml$ faa et 
rerr ca ~ al ae a fr faa za ? 
(A) 10 cos 30 N (B) 10 sin 30 N 

(C) 10/cos 30 N (D) 10/sin 30 N 

146. arr ft st fefa ii, fee mia R 
fuffa fen snan ? 

147. fl am fses srf fl ~ ? 
(A) «ia fee 
(B) a-ra fRrae 
(C) 3rsqur gfRae 

(D) kite fRaer 

148. a enrf g@ran fse qt ff act ~ ? 
(A) fte ~s gr se 
(B) 3r~ era 
(0) ft mis 
(D) i arregf 

910 (B) o, 

(B) 1% 

0 
(A =05 

(A) 0-05% 
(C) 0·5% (D) 0% 

. fat ~ zi at ii aau sR # ? 
(A) fair al ~a 
() # at ~a 
(C) 3fur at a 
(D) a-a ref at a? 

915 920 (C) 6, (D) , 

7. Ga ~afit ~ sis air as af 2% a«rm 
ran al ~afi f mils areas &ar fan ae 
qrft ? 

or 
th 

t 
e 
L 

.3 8 
21sra% h 
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149. According to Bernoulli's equation Y] 156. 

(A) P 
4-+ constant w 2g 

P ? 157. 
(B) 

" 4 
constant w 2g 

P ? 
(C) -l­ constant 158. w 2g 

P 
=constant (D) Z---- w 2g 

Froude number is the ratio of inertial force to 
(A) Gravitation force (B) Surface tension 

· (C) Elasticity (D) Viscosity 
Any change in load is adjusted by adjusting 
following parameter on turbine 
(A) Absolute velocity (B) Blade velocity 
(C) Net head 1 (D) Flow 
Kaplan turbine 
(A) is used where high head is available 
(B) has poor part-load efficiency " 
(C) has inlet adjustable guide vanes ­ 
(D) has adjustable runner blades 

159. The speed of an imaginary turbine, identical 
with the given turbine, which will develop a 
unit power under unit head, is known as 
(A) Normal speed (B) Abnormal speed 
(C) Unit speed (D) Specific speed 

160. In a centrifugal pump casing, the flow of 
water leaving the impeller is 
(A) Rectilinear flow 
(B) Radial flow 
(C) Free vortex motion 
(D) Forced vortex motion 

161. The efficiency of a centrifugal pump is 
maximum when its blades are 
(A) Bent forward 
(B) Bent backward 
(C) Bent forward first and then backward 
(D) Bent backward first and then forward 
To avoid cavitation in centrifugal pumps 
(A) Suction pressure should be low 
() Delivery pressure should be low 
(C) Suction pressure should be high 
(D) Delivery pressure should be high 

163. Loss of energy per unit volume due to 
friction in case of flow through a pipe at 
length L and diameter D is expressed as 

. 2 

(A) 4rL 
2gD 

150. The length of the divergent portion of 
venturimeter in comparison to convergent 
portion is 
(A) less 
(B) more 
(C) same 
(D) more or less depending on capacity 

151• Orifice meter is used for measurement of 
(A) Temperature (B) Pressure 
(C) Rate. of flow (D) Viscosity 

152. When Venturimeter is inclined, then for a 
given flow it will show 
(A) less reading 
(B) more reading 
(C) same reading 
(D) inaccurate reading 

153. A Manometer is used to measure 
(A) Discharge d (B) Pressure J 
(C) Volume • (D) Temperature 

154. During the opening of a valve in a pipeline, 
the flow is 
(A) Steady } () Unsteady / 
(C) Uniform r}, (D) free vortex / 

155. Water at 20°C is flowing through a 20 cm 
diameter pipe. Take kinematic viscosity of 
water at 20°C = 0·0101 stoke. Assume that 
the changes from laminar to turbulent 
Re = 2320. The critical ve_locity will be 
(A) 1-117 cm/s (B) 11-17 cm/s 
(C) 111·7 cm/s (D) 0-117 cm/s 
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ACADEMY OF ENGINEERING COMPETENCE 

(A) 1·117 cm/s 
(C) 111-7 cm/s 

(B) 11 · I 7 emfs 
(D) 0 117 emfs 

2 

(A) 4fL-v- 
2gD 

o ·(%3:) 

(B) «s ~ 
(D) rare 

149. aHef atlasc ~ 3re 
P ? ­ (A) Z+-+-=fruaie 

a· w 2g 
P · (B) Z+-=fuaia w 2g 
P ? 

(C) Z-+=fzaia w 2g 
P . 

(D) Z----=fruaia 
w 2g 

1so. ~a@u i 3far~ m ft @era i 3re~ 
Gt eia¢ fan n ~ ? 
(A) a 
(B) 3fras 
(C) era 
(D) &var ~ au e 3rf~re nr m 

151. 3ma ht at ya fse~ ma ~ fu fa 
sa ~ ? 
(A) ara (B) era 
(C) Jae zc (D) naal 

152. f? s@ft gel gen i , a fuffa sear ~ fro zs n efqn ? 
(A) « ale (B) 3firs a-ia 
(C) ea aaia (D) Tea a-is 

153. flat r an fsg m ~ fru fa sat& ? 
(A) fiesis (B) era 
(C) 3Ira (D) Ira 

154. rs nga ii aia ~ @e ~ a ae 3 
a ~ ? 
(A) fer () 3fer 
(C) a (D) fire 

155. e 20 cm sna a@ rgu i f 20° • 
afa l r 1 20° an St zg nfaa 
arrant = 0-0101 la ~ 1 ma lfu fas cat ~ fan ae ~ fa Re = 2320~ 1 ifs ~ fsat z ? 
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(A) more 
(B) less 
(C) same as long as compression ratio is 

same 
(D) same as long as output is same 

(B) n,=1--» (A) n,=I-,' 

170. The mean effective pressure of an Otto cycle 
is the ratio between , 
(A) the net work produced and the clearance 

volume 
(B) the net work produced and the swept 

volume 
(C) the net work produced and the cylinder 

volume 
(D) the net work produced and the crank 

case volume 
11. The Otto cycle thermal efficiency, with usual 

notation, is given as, where r is compression 
ratio and y is the adiabatic index 

«o n.-1-(±), «» .-1() 
172. For the same inlet condition and compression 

ratio, the efficiency of an Otto cycle is 
(A) lower than that of the diesel cycle 
{B) lower than or equal to that of the diesel 

cycle 
(C) higher than that of the diesel cycle 
(D) higher than or equal to that of the diesel 

cycle 
173. At triple point, there are 

(A). three constant thermodynamic properties 
(B) three states of matter in equilibrium¥ 
(C) three or more modes of 'energy transfer 
(D) three degrees of freedom d 

174. As the pressure increases, the saturation 
temperature of the vapour 
(A} increases 
(B) decreases 
(C) increases first and then decreases 
(D) decreases first and then increases 

175. The difference between the temperature of 
the superheated steam and the liquid-vapour 
saturation temperature at the corresponding 
pressure is known as 
(A) the degree of superheat 
(B) the extent of superheat 
(C) the approach to superheat 
(D) the limit of superheat 

() 11:1 
(D) 15 : 1 

correct stoicheiometric ratio 

164. In an isothermal process, the heat transfer is 
(A) less than the work transfer 
(B) equal to the work transfer / 
(C) less than or equal to the work transfer 
(D) more than the work transfer 

A heat engine receives 1000 kJ of heat and 
produces 600 kJ of work. The amount of heat 
rejected in kJ and the efficiency percentage 
of the engine, respectively will be 
(A) 400, 40% (B) 400, 60% 
(C) 600, 40% (D) 600, 60% 

165. 

166. The efficiency of a Carnot Engine depends on 
(A) the nature of the working fluid 4d 
(B) the duration of working of the engine d 
(C) the capacity of the engine 
(D) the temperature limits of the working 

fluid ok 
In case of S.I. engine to have high thermal 
efficiency the fuel air mixture ratio should be 
(A) lean 
(B) rich ( 
(C) irrespective of mixture 
(D) chemically correct 

168. For the same output, same speed and same ' 
compression ratio the thermal efficiency of a 
two stroke cycle petrol engine as compared to 
that for four stroke cycle petrol engine is 

" 

169. The chemically 
for petrol is 
(A) 148: 1 
(C) 18:1 

167. s 
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164. an# fan , asst aiauur frat @la ~ ? 

(A) arr iauur ~ a 
(B) ari siaur ~ are 
(C) arf iauur ~ an z aue 
(D) al iauu ~ 3rfa 

165. ar sr 1000 kJ 3I IH aa ? 3rt 600 kJ 
arf era aca 1 3rdlea sun <Ga an 
3t zr at z&at fra gs. faa st ? 
(A) 400, 40% (B) 400, 60% 
(C) 600, 40% (D) 600, 60% 

166. ar isra ea fs e ff adt ~ ? 
__ 
,,.. 

(A) afar~t acer cs 
(B) ira arf a Gt sraf 
(C) isra Gt rra 
(D) aria~ acer G ar # 

167. S.I. ira ~ mmR ~ a ar zat ~ feu { 
er fr ~ sa afu 
(A) 31c 

(B) 3fra 
(c frru 3r f ~t 
(D) aerafas zf~ ~ a&l 

168. a ffa, a nfR art r zifga arara ~ 
fq 2+a a ? iaa G ar &era14 €? a 
&sra gee i fan Rn~ ? 
(A) fr%as 
(B) «I 

(c) tea srara ~ ma 
(D) ffa ~ r 

169. a ~s feu arafas zfe ~ a@ afars arra 
an ~ ? 
(A) 14·8: 1 
(C) 18 : 1 

170. 3rial rs a Haft era fas--fse @ 
a1 3r3a slat ? 
(A) 3era fae ai 3~ 3rarer 3Ha 
\ 

(B) fae arf st efa 3ma 

(C) 3era fae ari 3t ~g 3rraa 

(D) 3ea fae ar st 3a ~e 3near 

171. 3i~ ass a gar at. flaia ~ qa 3& 
fruifta sf , asi reinsa sr@a at 
gs qeaia ~ ? 
(A) n,=1-,'' 

«on.-1-[) «» .--[}) 
172. « siafn fef st zihga srra ~ fru 

sift a s zera fan hi & 
(A) sre ass t era ~ a 
(B) sre ag l agra ~ an anr aaae 
(c) Starer a st zrar ~ arfra 
(D) loser ass ft agar ~ sfra zr arr 

173. fie fig an ~~ { ? 
(A) fa eaa arfat 
(B) raeen qeri t dla fefarari 
(C) rf ajar Gt fa an 3rfras ff&rai 
(D) ia Gt alfri 

174. R-R era agar &, ar at kif& ra 
(A) agar R 
(B) ram ~ 
(c) aaa ~ sn ft um ~ 
(D) «~ ear a ft aeaa & 

175. Re zra e arfa ~ ara aft ace 
arr eif arr ~ afa iac al anr aeR ~ ? 
(A) 3fa a Gt alf 
(B) 3If~ ar a farea 
(C) fa s 39r 
(D) sf ar $ dn 

(B) 11 : 1 
(D) 15: 1 

(B) n,=I-r' 

\ 
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(B) side rake 
(D) tip 

is used in 
(B) tube drawing 
(D) forging 

place in a single' point 

(C) face 

Crater wear takes 
cutting tool at the 
(A) flank 

183. 

K 
184. The relationship between tool life (7) and 

cutting speed (V) is expressed as, where n 
hand C are constant 
/(A) vT=C () ITC 

(C) VT=C (D) T/VY=0 

182.A moving mandrel 
(A) wire drawing 
(C) metal cutting 

185. Black colour is generally painted on 
(A) oxygen cylinder «±. 
(B) acetylene cylinder ? 

(C) hydrogen cylinder )- 
(D) None of the above 

186. Consumable electrodes is used in 
(A) -carbon arc welding 
(B) submerged arc welding 
(C) TIG arc welding < 
(D) MIG arc welding J 

187. The directional solidification in casting can 
be improved by using 
(A) chills and chaplets 
(B) chills and padding 
(C) chaplets and padding 
(D) chills, chaplets and padding 

188. The purpose of chaplets is 
(A) just like chills to ensure directional 

solidification 
) to provide efficient venting 
) to support the cores 
) to join upper and lower parts of the 

moulding box 

(B) volumetric 
(D) impeller 

The process used for relieving the internal 
stresses previously set up in the metal and for 
increasing the machinability of steel, is 
(A) normalising 
(B) full annealing 
(C) process annealing 
(D) spheroidising 

176. Metacentric height is the distance between 
(A) metacentre and water surface 
(B) metacentre and centroid 
(C) metacentre and centre of gravity 4 
(D) metacentre and centre of buoyancy / 

177. The centre of gravity of the volume of the 
liquid displaced by an immersed body is 
called 
(A) metacentre 
(B) centre of buoyancy 
(C) centre of gravity 
(D) centroid 

178. The ratio of actual measured head 
imparted to fluid by impeller for a centrifugal 
pump is known as 
(A) mechanical 
(C) manometric 

180. The process of making hollow casting of 
desired thickness by permanent mould 
without the use of cores is known as 
(A) die casting 
(B) slush casting 
( C) pressed casting 
(D) centrifugal casting 

181. According to Indian standard specifications, a 
plain carbon steel designated by 40C8 means 
that the percentage of carbon content is 
(A) 0-04 (B) 035 to 045 
(C) 0·4 to 0·6 (D) 06 to 0-8 

179. 
\ 
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176. 3rrara , sa{ fr~ Ala St@~ 
(A) 3Hera se, sf sen aas 
(B) 3era se st ~as 
(C) 3nsa ~ art sea ~e 
(D) 3Ha ~g, art aeereaa e 

177. ffra sail zu fefa ace ~s 3nraa ~ 
ca z al an au~ ? 
(A) 3rTrra ~, (B) 3rareraat ~g , 
(C) a e (D) 3yes 

178. 3rv8 qr ~ feu aeafaa ah et erelsra 
3rt ilea zra ace al & n& earsa 3ma4a 
al an ae~ ? 

179. q@ s~ ~ eanfa riafte sf#ee fafa 
a at gea fl-a gar al aa ~ fRu 
7er fqn «an ? 
(A) &Tracor (B) 3rfer 
(€) fran arftera (D) Tierra 

180. si a game fu fa eft gi~ zra aifia 
itar% t «seen aen{ a Gt frat al aen 
sR ~ ? 
(A).8ml aeni () 3rarias eenr{ 
(c) fa aen% (D) 3rrz en{ 

181. fl res ffrdsi ~ 3re 40c8 gr ff&e 
rarer ard gera at 3r ~ f arl ain at 

gfasra ~ 

182. aa &a r ail fie i fa sank ? 
(A) a fa (B) fret eu 
(c) 1g a~ (D) 9ti 

183. ea aria a a#Ha ar ~ fair fa ii 
sa ~ ? 
(A) a«ant (B) rd ta 
(C) era (D) 3fl 

184. 3@ur arafafu (r) 3 asH fa (y) ~ fa 
ii at fse gas zfa sna , at n art c 
fies 

185. «ran i ran fRe qt fat rat } ? 
(A) 3rfafsar fries () infenia fer~iet 
(C) @re;lsra fr@is (D) re i al{ at 

186. «a a~tr gas a ya fasa i fasar at ~ ? 
(A) r«fa 3mi feen 
(B) ffra ani ~fee 
(c) 3.3m.sft mi ~fen 
(D) H.3n1&.s. 3n# ~fen 

187. en{ i fees tflasur i qu feast ail a fran sa ? 
(A) ga fa at siAi 
(B) ga vftaa sit f& 
(c) sisf at f& 
(D) gar:far, sisf.ant f& 

1ss. sist (~le) at isra an ? 
(A) f~meres tflesor as gffera at ~ f 

ga fl ~ ea 
(B) er tiara ~ feru 

'(C) gs ~ sraeis ~ feu 
(D) ia aaa ~ at 3rt fa n a sle 

~ fRru 

(B) V/T= C 
(D) TV = 0 

(A) V"T= C 
(C) vT =C 

(B) 3H1armfl 

(D) ta 

(B) 0-35~0.45 aa 
(D) 0608 a 

(A) ifras 
(c) nfes 

(A) 004 

(0) 04~06 a 
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ACADEMY Of ENGINEERING COMPETENCE 

193. When the sleeve of a Porter governor moves 
upwards, the governor speed , 
(A) Increases 
(B) Decreases f 
(C) Remains unaffected 
(D) First increases and then decreases 

194. When the load on engine increases, it 
becomes necessary to increase the supply of 
working fluid and when the load decreases, 
less working fluid is required. The supply of 
the working fluid to the engine is controlled 
by a 
(A) D-slide valve \ 
(B) Governor 
(C) Meyer's expansion valve 
(D) Fly wheel 

189. The centre of gravity of a cornple link in a 
four bar chain me h will experience 
(A) No ac k ration b 
(B) Only linear acceleration 
(C) Only angular aoce ation 
(D) Both linear and angular ac le ration 

190. The power from the engine to the rear axle 
of an automobile is transmitted by means of 
(A) Worm and worm wheel p 
(B) Spur gears 
(C) Bevel gears ­ 
(D) Hooke's joint 

191. The included angle for the v-belt is usually 
(A) 10° to 20° (B) 20° to 30° 
(C) 30° to 40° (D) 60° to 80° 

I 

198. A cotter joint is used to fr rods 
which are in 
(A) Tension only 
(B) Compression only 4- (C) Tension and Comp ly 
(D) Shear only 

Lt dati on 

For high speed engines, the can follower 
should move with 
(A) Uniform velocity 

/ (B) Simple harmonic motion 
(C) Uniform acceleration ad 
(D) Cycloidal motion 

199. Which of the following statmts tag ding 
'mitre gears' is correct ? 

These are employed for 
(A) minimum back-lash 
(B) great speed reduction k_ 
(C) equal speed d 
(D) minimum axial thrust J- 

200. Regarding journal bearing tder film 
lubrication condition, which of d floring 
statements is correct ? 
Frictional resistance is 
(A) directly proportional to the pose 
(B) independent of the area 
(C) proportional to the speed of rotio 
(D) inversely proportional to the vr t

y of 
the lubricant 

196. The minimum required centre di e of two 
mating spur gears is decided bed en 
(A) Surface compressive sr nth af de ge ar 

material 
(B) Bending strength of de er trial/ 
(C) Ultimate strength of de gr material/ 
(D) Fatigue strength of the er rial / 

197. Which of the following b en cm take 
large thrust loads ? 
(A) Deep-Groove ball bearing < 
() Fig-Notch ban bani J 
(C) Self-aligning ball bearing 
(D) Angular-Contact bearing 

195. 

In railway axle boxes, the bearing used is 
(A) Cylindrical roller bearing 
(B) Deep groove ball bearing 
(C) Double row spherical roller bearing 
(D) Double row self-aligning ball bearing 

192. 

SPACE FOR ROUGH WORK 

JA 2015/Page 30 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ACADEMY OF ENGINEERING COMPETENCE 

• 

(A) 10°~ 20° 
(c) 30° ~ 40° 

(A) Darke ace 
(c) iar ar gar are 

(B) Tait 
(D) fares er 

195. a nfa a@ <si ~ fu, ~n 3raft as 3 
arrant rfu ? 
(A) ma ~n ~ 
() er anifn fa ~ 
(C) a cut a ii 
(D) aasfa nfa 

196. t if et fad ft =ran sf&a s zt 
fess 3nrur frra sA~ ? 
(A) fart an.fl Gt fa zifrea av 
(By fa emf Sr aiaa ref 
(c) fr a st aca are 
(D) fire aft ft rife ref 

197. fefefaa ~ a- ~Raf srfura suit cits ~ eaa ~ ? (A) Rt vsi~ aent aie Rufi 
(B) I iaert sf afi 
(C) ea: qtsr afar aft 
() fa id aft 

198. at sits at ya Re ~ si at site? ~ fer 
frant. a ~ sit 
(A) Barer aa ii i 
() sit ~a kite i 
(c) si aer aa at tea i zl 
(D) sit ae 3rs ii 

199. 'mrget fad' ~ kiau ii ast-a asra a ? ~a _~ fr rm sR? 
(A) -aa a 3rarr 
(B) 3fa nfR an a 
(C) an fa 
(D) are rf yule 

200. a (fem) <ea G ff i #a aft ~ 
qi ii at-er ra a ? 
fur gfa~du �- 
(A) al ea ~ rra i a ~ 
(B) er e fit al at 
(c) 3mad fR ~ sra zai ~ 
(D) cea ft sara ~ far@a raga i ta ~ 

189. a de ad l fes ra ~g, an 
gm ? ·­ 
(A) al{ er a@f 
(B) a fss ewe 
(c) «are ahefr ewe 
() tfss vi aef ii rcvr 

190. el 3ihise is ~ ft g? ass sf 
faa Arai ~ cisf en ? ? 
(A) af ua ai in (B) z frat 
(c) ~~a f (D) gea its 

191. .~sad ~ fr aialsfl sstr area fersaat 
sa ? 

192. er~ $ g@f , fa at ~ ~fir au ail 
fen sran & ? 
(A) ere ~et @ref 
() sir~e aia afi 
(C) ge@ if a rear ta aft 
(D) get if a~ a ts ie f 

193. Ha fsA lz re# 6t an 3re t sit gRl t 
zit naH Gt are ? 
(A) ae sft R 
(B) Ere snnl ~ 
(C) 3gnf~a ft ~ 
(D) ~ aeaf ~ f aeAl ~ 

194. a sis eite «a sat at aria~t ace Gt l 

genr! aa arras «~t sat ~ at sa ails e 
a ~ ~t an ala~ ace Gt amarasa Ht 
~is#aria& aca t qr! fa~ fzifa 
in? 

() 20° ~ 30° 
(D) 60° ~ 80° 
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